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I Current of drcuit element [A] I | Series Joule Loss [W1] ] Input voltage of power V] I Joule loss PelW1 (referring to value over
me [s] FEM1 FEM2 FEM3 D1 D2 D4 R1 D3
0.000e+0 0.000e+0 0 0.000=+0 0.000e+0 0.000e+0 0.000=+0 0.000e+0 0.000e+0
16674 -1.132e-5 i] 1.132e5 25836 -1.1432-8 8.738=-4 719226 9.787=-6
3.333e4 -3.12%-1 1] 3.129e-1 201626 -9.578e-7 3.129e-1 -3.12%-1 3.12%-1
5.000e-4 -5.382e+0 i] 5.382e+0 -8.775e-7 -2.3559 5.382e+(] -5.382e+0 5.382e+0
6.667e-4 -1.004e+1 0 1.004e+1 -8.975e-7 48349 1.004e+1 -1.004e+1 1.00de+1
8.333e-4 -1.614e+1 0 1.614e+1 -5.168e-7 -8.53%9 1.614e+1 -1.614e+1 1.614e+1
1.000e-3 2.127e+1 0 2.127e+1 -5.280e-7 -1.06%-8 2.127e+1 2.127e+1 2.127e+1
1.167e-3 -2 445e+1 1] 244541 -9.348=-7 -1.296=-8 2.445e+1 -2 445e+1 2.445e+1
1.333e-3 -2.597e+1 1] 2.5972+1 9.619e-7 -1.100=-7 2.5572+1 -2.597e+1 2.5572+1
1.500e-3 -2.593e+1 i] 259341 -9.378e-7 -1.2962-8 2593=+1 -2.593e+1 2.5593e+1
1.667e-3 -2.430e+1 1] 2.430e+1 -9.345e-7 -1.215e-8 2.430e+1 -2.430e+1 2.430e+1
1.833e-3 -2.083e+1 0 2.083e+1 52717 -1.041e-8 2.083e+1 -2.083e+1 2.083e+1
2.000e-3 -1.517e+1 0 1.517e+1 9.128e-7 £.079%3 1.517e+1 -1.517e+1 1.517e+1
2.167e-3 -7.0596=<0 1] 7.056e+0 87777 443210 7.056=+0 -7.0596=<0 7.056e+0
233323 -4.890e-7 0 4.8590e-7 -7.827e-7 -2.088=-10 -2.937=- 9.808=-7 -1.979e-7
2.500e-3 8.703e+0 i] -2.703e0 8.703e+0 -£.382=9 -8.9662-1 87030 -5.007e-7
266723 1.974e+1 1] -1.974e+1 1.974e+1 5.871e-9 -9.2462-1 -1.974e+1 -9.246e-7
2.833e-3 2.838e+1 i] -2.838e+1 2.838e+1 -1.34%e-8 -5.416e-1 -2.838e+1 -5.407e-7
3.000e-3 3.412e+1 0 -3.412e+1 3.412e+1 -1.706=-8 -9.530e-1 -3.412e+1 5.530e-7
3.167e-3 3.656e+1 1] -3.696e+1 3.696e+1 -1.775e-8 -5.568=-1 -3.696e+1 -5.558e-7
33333 3.73%+1 0 -3.73%+1 3.73%+1 -1.835=-8 95782 -3.73%+1 -9.568=-7
3.500e-3 3.5982+1 | 0 -3.5982+1 3.598e+1 -1.773-8 -9.557e-1 -3.598e+1 -9.552=-7
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